S‘I' Ep ‘I KYOSHO BLIZZARD WORM GEAR TRANSMISSION KIT
WORM DRIVE TRANSMISSION ?

1

Prepare
worm drive

Bearing 6 x 13 x 5

Bearing5x 10 x 4
M6 Washer

Steel Worm 1 Module 6mm Bore Prepare
(M4 x 5mm Set Screws)

D)/ ////‘}@ el 4 worm gear

M6 Washer

Bearing 6 x 13 x 5

Nylon Plastic Worm Gear 1 Module 20T 5 or 6mm Bore
(M4 x 5mm Set Screws).

\Brass Tube 6mm OD 5mm ID

6
*5’0,}7
n (If worm gear is 6mm bore)

=

Attach motor

M3 Washer

A
v

540/550 Motor 27T, 35T, 45T, efc)

STERP 2

SNOW SLOWER LIFTING SETUP

10KG servo works fine here

M3 x 32mm

M3 Washer

#4 x1/2" Pan

SPYKER WORKSHOR



